www. sinyoelevator. com FUJITEC Escalator Parts SIN Ya

o o i P

I LG

© (o}
: FUCP09
g e o] - =
FUCP01-02 ;
" : i ry 111001
LA RARARARRRRRRRRAREI !
FUCP06-08 FUCP10

SINYO.# OEM.# Description

FUCPO1 FPA0O104 Comb Plate,199.5X154.3mm,Tooth Pitch 9.068,
Hole Spacing 145,22T,Aluminum,Right

FUCPO02 FPA0105 Comb Plate,214.6 X 154.3mm,Tooth Pitch 9.068,
Hole Spacing 145,23T,Aluminum,Left

FUCPO3 FPB0104 Comb Plate,202.9 X 100mm,Tooth Pitch 9.068,
Hole Spacing 135,22T,Aluminum,Left

FUCPO04 FPB0105 Comb Plate,202.9 X 100mm,Tooth Pitch 9.068,
Hole Spacing 130,22T,Aluminum,Right

FUCPO5 FPB0101 Comb Plate,199.4 X 100mm,Tooth Pitch 9.068,
Hole Spacing 145,22T,Aluminum,Center

FUCPO06 FPB0102 Comb Plate,202.9 X 100mm,Tooth Pitch 9.068,
Hole Spacing 135,22T,Aluminum,Left

FUCPO7 FPB0105 Comb Plate,202.9 X 100mm,Tooth Pitch 9.068,
Hole Spacing 130,22T,Aluminum,Right

FUCPO08 FPB0101 Comb Plate,199.4 X 100mm,Tooth Pitch 9.068,
Hole Spacing 145,22T,Aluminum,Center

FUCPO09 0129CADO001 Comb Plate,199.4 X 100mm,Tooth Pitch 9.068,
Hole Spacing 145,Yellow/Black,Center

FUCP10 0129CAE001 Comb Plate,202.9 X 100mm,Tooth Pitch 9.068,
Hole Spacing 135.8,Yellow/Black,Left

FUCP11 0129CAF001 Comb Plate,202.9 X 100mm,Tooth Pitch 9.068,
Hole Spacing 130, Yellow,Right

FUCP12 0129CAP001 Comb Plate,Length,199mm,Tooth Pitch 9.068,
Hole Spacing 72.5,Yellow,Center

FUCP13 0129CARO001 Comb Plate,Length,203mm,Tooth Pitch 9.068,
Hole Spacing 67.5,Yellow,Left

FUCP14 0129CAS001 Comb Plate,Length,203mm,Tooth Pitch 9.068,
Hole Spacing 65.8,Yellow,Right

FUCP15 X12PAT1 Comb Plate,168 X 83 X 112,Yellow,Center

FUCP16 X129AW1 Comb Plate,171 X 83 X 88,Yellow,Right

FUCP17 X129AV1 Comb Plate,171 X 83 X 88,Yellow,Left

FUCP18 T129AA Comb Plate,205 X 154mm,22T,Al,Side

FUCP19 T129AB Comb Plate,199.4 X 154mm,22T,Aluminum,CTR

111100111
FUCP11

"“ == v:'j]‘
AELAARRANRRRAAAALIL ‘
Fuce12 FUCP15-17 FUCP18-19




SI N Yo FUJITEC Escalator Parts www. sinyoelevator. com

FUSTO1 FUSTO02 FUSTO3
SINYO.# OEM.# Description
FUSTO1 Aluminum Step With Five Demarcation, m TR “ 1
ATITRRRTIORRR
FUSTO2 Aluminum Step With Five Demarcation, FUDS01
New Type,1000/800mm g
FUSTO3 Stainless Steel Step ,1000/800mm -
FUSTO04 Aluminum Pallet,1000/800mm FuDs02

FUSTO5 Stainless Steel Pallet,1000/800mm E’%

FUDSO03

. imm

FUDS04

FUSTO4 FusTOS

SINYO.# OEM.# Description Fupsos
FUDSO01 0129CACO001 Demarcation Strip, Length:203 Tooth Pitch:9.068 l
Thick Width:49 Front
FUDSO02 0129CAA001 Demarcation Strip, Length:402 FUDs06
Thick:32.5 Width:109 Left —
FUDSO03 0129CAB001 Demarcation Strip, Length:402 - =
Thick:32.5 Width:96.6 Right FUDS07 -
FUDSO04 0129CAC001 Demarcation Strip, Length:203 Tooth Pitch:9.068
Thick Width:49 Front, Grey g‘m—“
FUDSO05 0129CAA001 Demarcation Strip, Length:402.5 - Fupbsos
Thick:33.5 Width:109.2 Left
FUDSO06 0129CAB001 Demarcation Strip, Length:402.5
Thick:33.5 Width:96 Right
FUDSO07 5P1P5581P001 Demarcation Strip For Aluminum Step, FUWHO1 FUWH02
Length:402 Thick:33.5 Width:50,Left
FUDSO08 5P1P5581P002 Demarcation Strip For Aluminum Step,

Length:402 Thick:33.5 Width:50,Right

O

FUWHO03 FUWHO04

SINYO.# OEM.# Description

FUWHO1 Roller,®75 X 23.5mm,6204-2RS,Black
FUWHO02 Roller,®75 X 23.5mm,6204-2RS
FUWHO03 Roller,®75 X 23.5mm,®20 FUWHO5 FUWH06
FUWHO04 Roller,®75 X 23.5mm,6204-2RS,Blue
FUWHO05 Roller,®75 X 23.5mm,6204-2RS
FUWHO06 Roller,®100 X 25mm,6204-2RS
FUWHO07 Supporting Roller, 70 X 50,6204 FUWHO7 FUWH08
FUWHO08 Supporting Roller, 75 X 60,6004 _—
FUWHO09 Supporting Roller, 75 X 70,6004
FUWH10 Supporting Roller, ®96 X 72,6204

FUWHO09 FUWH10




www. sinyoelevator. com FUJITEC Escalator Parts SIN Ya

FUWH11 FUWH12 FUWH13 FUWH15 FUWH16 FUWH17 FUWH18 FUWH19

SINYO.# OEM.# Description
FUWH11 Supporting Roller, $98 X 30,6204
FUWH12 Supporting Roller, 98 X 40,6203 FUWH20 FUWH21
FUWH13 Steel Roller W/Bracket —=
FUWH15 T848AD V-Belt Roller, ©86.5 X 70mm,6204
FUWH16 T848AE V-Belt Roller, $85 X 70mm,6204,
Double
FUWH17 0384CAM Handrail Roller,$98 X 31,6203
FUWH18 HDZ0103 Handrail Roller,®64 X 50mm,6204,  FYWH22 FUWH23

Aluminum Hub

FUWH19 Fraction Wheel,®589 X 30mm ==

FUWH20 Fraction Wheel,®440 X 30mm FucHo1
FUWH21 Fraction Wheel, 650 X 30mm
FUWH22 Fraction Wheel, 597 X 30mm
FUWH23 Fraction Wheel

FUCHO2 FUCHbii
SINYO.# OEM.# Description
FUCHO1 Step Chain, Roller, 75 X 23.5,T133.33
FUCHO2 0114CAGO001 Reversing Chain, 44 Rollers
FUCHO3 Revising Chain, 36 Rollers
FUCHO4 Handrail Tension Chain,

Roller 76 * 60-6004, Pitch 85mm, 8 Roller
FUCHO04

SINYO.# OEM.# Description
FUICO01 0156CAJ Handrail Inlet,Grey,L:371mm,W:240mm
FUIC02 Inlet Cover Fuico1
FUICO03 Fujitec Rubber Inlet
FUIC04 Fujitec Hairbrush
FUIC02
SINYO.# OEM.# Description
FUGRO1 Fujitec Anti-deflection Plate
FUGRO02 Fujitec Sleeve
FUGRO3 Fujitec Gliding Bushing FUICO03
FUGRO04 Tangential Rail
\ [ =g
o — e

N\

FUGRO1 FUGRO02 FUGRO03 FUGRO04

FUIC04






